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INSTRUCTIONS TO THE CANDIDATES
This Question Booklet is printed in two langnages—Hindi and English. Candidates can select any one of the
two languages according to their convenience.
There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) -
General Paper on Teaching and Research Aptitude. The second question paper is the subject selected by the
candidate. Only one combined OMR sheet will be provided for both the guestion papers. The time of
examination of 12 noon to 1:00 p.m. is for Compulsory Paper. Candidate should mark the answer of first
paper in the part of first paper in the O.M.R. Sheet that are Q. No. 1 to 50, The second paper of optional
subject will be given to the candidate at 1:00 p.m. The candidate has to open it at 1:05 p.m. The sequence of
these questions are 51 to 150. The Candidate should mark the OMR in order of answers frorh 1 to 50 for the
first question paper and answers from 51 to 150 for the second question paper. The candidate himself will be
responsible for marking the answers in the wrong order.
All questions are compulsory.
All questions carry equal marks. 2 marks will be given for each correct answer. There is no provisions for
Negative Marking. ’
On the cover page the number of pages is indieated in the Question Booklet. The examinee should verify that
the requisite number of pages are attached in the Question Booklet, otherwise he/she shouid ask for another
Question Booklet.
Read carefully the instructions given on the Answer Sheet (OMR Sheet) supplied and indicate your answers accordingly.
Kindly make necessary entries on the Answer Sheet (OMR Sheet) only at the places indicated and nowhere else.
Examinee should do all rough work on the spaces meant for rough work in the pages given in the Question
Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).
Ifthere is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi and
English versions of the question, the Hindi version will be treated as standard.
Use of any type of calculator, log table ete, is prohibited.
Candidates will leave the Examination Hall only after handing over the OMR Sheet to the Invigilator at the
end of the examination at 3:05 p.m.
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Which of the following DTH channels
are meant to support and reach who do
not have access to the internet ?

(A) Diksha
(B) Swayam Prabha
(C) Nishtha
(D) Swayam

Which of the following is the best

advantage of choice based credit

system 7

(A) Shift in focus from teacher-centric
to content-centric education

(B) Providing flexibility for teacher
(C) Improving credibility of students’

(D) Shift in focus from teacher-centric
to student-centric education

Teaching is a......cooueuee. process.
(A) Tri-polar (B) Bipolar
(C) Unipolar (D) Multipolar

Which of the following are the levels of
teaching ?

(A) Primary level, Secondary level and
Higher level

(B) State level, National level and
International level

(C) Memory level, Understanding level
and Reflective level

(D) Teacher level, Student level and
Parent level

Which method of teaching develops
spirit of inquiry in students ?

(A) Project Method

(B) Heuristic Method

(C) Problem-Solving Method

(D) Laboratory Method

P.T.O.
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Which of the following is the first step
in the research process ?

(A) Searching sources of information
(B) Survey of related literature

(C) Identification of a broad area of
research

(D) Searching for solution to problem

Which of the following is a non-
parametric test ?

(A) Analysis of covariance
(B) Median Test

(C) Analysis of variance
(D) Critical Ratio

Which of the following sequence
represent the most logical sequence in

doing research ?

(A) Identifying and defining a research
problem, formulating a hypothesis,
testing of hypothesis and reporting
the result

(B) Identifying a research problem,
defining the population and sample,
collecting data and analysis of data

(C) Survey of research, defining the
research problem, collecting data
and presenting the outcomes

(D) Defining
hypothesizing testing of research

research variables,

and reporting of research outcomes.
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9. A study on the topic “Perception of tribal
people about formal education” comes
under which of the type of research ?

(A) Historical (B).
(C) Expost facto (D)

Experimental

Ethnographic

10. SPSS stands for :

(A) Statistical Package for Social
Studies

(B) Statistical Package for Sampling
Studies ' .

(C) Statistical Package for Social
Sciences

(D) Statistical Package for Social
Service

Read the following paragraph carefully and
answer question nos. 11 to 15 :

The Visva-Bharti grew out of Shantiniketan
Ashrama formed by Maharshi Devendranath,
the father of poet Rabindranath Tagore, in
1863. The Ashram was meant to be a retreat
where seekers after truth might come and
meditate in peace and seclusion. In 1901 an
experimental school was started at
Shantiniketan by Rabindranath Tagore with the
object of providing for an education which
would not be divorced from nature, where the
pupils could feel themselves to be members of
a large community and where they could learn
and grow in an atmosphere of freedom, mutual
trust and joy. Since 1921, Shantiniketan has
been the seat of Visva-Bharati, an international
university, seeking to develop a basis on which
the cultures of the East and the West may meet
in common followship.

P.T.O.
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11.

12.

13.

Shantiniketan Ashram was formed by

whom ?

(A) Maharshi Hemendranath
(B) Savindranath Tagore
(C) Maharshi Devendranath

(D) Rabindranath Tagore

What was the purpose of the Ashram ?
(A) Mediate in peace and delusion
(B) Meditate in peace and delusion
(C) Mediate in peace and seclusion

(D) Meditate in peace and seclusion

With  what objective was the

experimental school started ?
(A)

To provide education which is not

divorced from future

To provide education which is not

(B)
divorced from nature
©

To provide education which is not

divorce from creatures

None of the above

(D)
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14.

15.

16.

17.

Visva Bharti is :

(A) an international university
(B) a national university

(C) a deemed university

(D) a private university

What do you understand by “divorced

from nature” ?

(A) Connected to nature
(B) Separated to nature
{C) Respect to nature

(D) Accept to nature

In communication networks, the circle

network allows :

(A) Every member has easy access to

every other member in the group
(B) Each member to converse with the

person on either left or right and no

further.
{(C) Communication to move up or

dewn, but not laterally

(D) All of the above

Grapevine communication does not

include :

(A) Chain system
(B) Cluster system
{C) Gossip system

(D) Meta Communication

P.T.O.
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18.

19,

20.

The automatic process of catching or
sharing another person's emotions by
that facial

mimicking person's

expressions and other non-verbal

behaviour is known as :
(A) Grapevine

(B) Emotional contagion
(C) Persuasion

(D) Information overload

Which one of the following is considered

as a distortion of downward

communication ?

(A) Reliance upon written diffusion

methods
(B) Message Overload
(C) Filtering
(D) All of the above

In BHEL, Bhopal a special mechanism
has been developed with an acronym
MECOM. It stands for :

(A) Middle Employee Communication

(B) Mutual Economic Communication

(C) Management  and Employee
Communication

(D) Management and . External
Communication



Ty

21, T we H 15 ®e R 1 foww =y

22.

sed o 18 W ¥ | aRk foew W
g 'R ST ? oA o # o
3 1 I ®A B oSO © 1 fER s

# oy fredt ¥ 2
(A) 35 ad B) 32 =9
(C) 33 =y (D) 28 =¥

T® T H 250 fRaml ¥ @ 28% ReaRr
T H OHEA W T | T IQRF
frarl d @ 40% RO wEER 9
FREH F WA ¥, @ fem feum
el = FREM % wEer ¥ 2

(A) 28 (B) 60
(C) 42 (D) 38
23. el wiafew 9w & afe ‘BINA w2
B 310152 & ®Y ¥ @ wwr @
SH 9™ § ‘DELHI’ @< 9 YR
ferean s 2
(A) 4513910 (B) 5613890
(C) 4612910 (D) 5613910
24, T TR 7 wEW R SR @ mr
FIAG 3:2 B 1 IR W T 750 =
§d fm v ¥ e WeR ¥ 2
(A) 350 . (B) 300
(C) 450 (D) 250
{2)8/00/2022/A

21.

22,

23.

24,

In a class, average age of 15 students and
a teacher is 18 years. If ‘teacher's age is
eliminated then the average age of
students is reduced by ‘one year. Then

how much is the age of the teacher ?
(A) 35 years (B) 32 years
(C) 33 years (D) 28 years

In a village out of 250 farmers, 28% of
them have taken a crop .of 'sugarcane.
Out of these sugarcane growing farmers,
40% are the members of sooperative
sugar factory. Then how many farmers .

are the members of the sugar factory ?
(A) 28 (B) 60
(C) 42 (D) 38

In a code language, if ‘BINA’ is coded
as 310152, then how is ‘DELHI’ coded
in the same language ?

(A) 4513910
(C) 4612910

(B) 5613890
(D) 5613910

In a town the ratio of employed and
unemployed persons is 3 : 2. If there are
750 persons in the town, how many

persons are unemployed ?
(A) 350 (B) 300
(C) 450 (D) 250

PITIOI )
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25.

26.

217.

Which of the following will complete the

letter series given below :
GEF, KIJ, ......c.es, SQR
(A) LNM
(B) OMN
(C) PNO

(D) NOM

Inductive reasoning is based on :
(A) Uniformity of nature

(B) God-created world

(C) Unity of nature

(D) Law of nature

Which of the following are contraviety to

each other ?

(a) All men are good.

(b) No men are good.

(c) Some men are good.

(d) Some men are not good.
(A)
(B)
©)
(D)

() and (b)
(b) and (c)
(¢) and (d)
(a) and (d)
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28. Nyaya syllogism employs a formal five-

29,

step argument., Match the items in the
List-I with those in List-II :

List T List I
(@) There is fire (i) Pratijna
on the hill
(b) Because there (i) Hetu
is smoke on
the hill
(¢) Whether there (iii) Udaharana
is smoke there
is fire
(d) There is smoke (iv) Upanaya
on the hill
(e) Thus, there is
fire on the hill

(v) Nigamana

(A) a-i, b-ii, c-iii, d-v, e-iv
(B) a-ii, b-i, c-iii, d-iv, e-v
(C) a-i, b-ii, c-iii, d-iv, e-v
(D) a-i, b-iii, c-ii, d-iv, e-v
In which of the following types of

Hetvabhasa is the fallacy of an irregular

middle term ?

- (A) Savyabhichara

(B) Badhita
(C) Satpratipaksha
(D) Sadhyasama

P.T.O.
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30.

31.

32.

(a)
(b) Crows are birds.

All birds lay eggs.

(¢) Crows lay eggs.

What is the type of reasoning in the

above statements ?

(A) Inductive Reasoning
(B) Deductive Reasoning
(C) Both (A) and (B)
(D) None of the above

Which of the following is not a source
of secondary data 7 '

(A) Indirect oral interview

(B) Reports of committees and
commissions

(C) Publications of International
Institutions '

(D) Publications of Research Institutions

If data is classified as 0-10, 10-20,

the method of this

classification is known as :

(A) Individual Method (Series)
(B) Exclusive Method (Series)
(C) Inclusive Method (Series)

(D) Discrete Method (Series)
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33.

34.

35.

36.

11

Which of the following is not a type of
two-dimensional diagram ?

(A) Square diagram

(B) Pie diagram

(C) Rectangular diagram

(D) Histogram

The value of median is determined

graphically with the help of the graph
known as :

(A) Histogram

(B) Frequency polygon

(C) Frequency curve

(D) Ogive curve (Cumulative Frequency
Curve)

When mode (Z) is ill-defined, its value
is determined by the formula :

(A) z=2M-X
B) z=3M+2X%
(O zZ=3M-2X
(D) Z=3X-2M

(where, M-median and )_(—mean)

Which componeft enables your computer
to permanently retain large amount of
data ?

(A) Central Processing Unit
(B) RAM

(C) Storage Device

(D) ROM

I3
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37.

38.

39.

40.

Name of the device that connects
computers to internet by means of a

telephone line :
(A) Modem
(C) Jack

(B) Cable
(D) Cursor

Which of the following is not a search
engine in the internet system ?
(A) Google (B) Apollo

(C) Yahoo (D) Dogpile

The first Indian satellite for serving the

education sector is known as :
(A) SATEDU (B) INSAT B

(C) EDUSAT (D) INSAT C

NPTEL stands for :

(A) National Programme on Technology
Ena;bled Learning
(B) National Programme on Technology

Enhanced Lessons

(C) National Programme on Technology

Embedded Leamning

(D) National Programme of Technology

Enhanced Learning



41.

42,

43.

W 2010 3R 2020 F W=w w @iy
¥ oiiva wffs o & = fow i

T T H I h AEE W W PR
TIH W ?

(A) THU (B) &

(C) -=ier (D) vl

w=d fogm wiveor (W) & sger

T 2029-30 & AU Ho drenfm s

% ead fga F 9R u§ weR @i

w1 HgF ofw TuiRe §

(A) 40.37 Wfowm

(B) 60.41 wfawa

(C) 69.37 wfaswa

(D) 51.41 wiawwa

mﬁmaﬁ-ﬁmﬁﬁﬁr$ﬁ

® fa=r =ik -

() 99 20 W& TE 180 T ¥ |

() @ fow=r, 2015 & == o
A T o7 )

we fawed gfg

A4) @ @ Gi) ¥ w@ E

®) () @ (i) S T

© G T &

(D) = (if) Wt ¥

| .(2)8/00/2022/A

41.

42.

43.

What rank does India hold globally with
respect to net gain in average annual

forest area between year 2010 and 2020 ?

(A) Second (B) Third

(Cy Fourth (D) Fifth

As per the Central Electricity Authority
(CEA), the combined share of solar and
wind energy in total projected optimal
mix of installed capacity for 2029-30 is :
(A) 40.37 per cent
(B) 60.41 per cent
(C) 69.37 per cent

(D) 5141 per cent

the
regarding Sustainable
Goals :

(i) It contains 20 Goals and 180
Targets

Consider following statements

Development

(ii) It was adopted in New York in
September, 2015

Choose the correct option :

(A) Both (i) and (ii) are correct
(B) Both (i) and (ii) are incoirect
(C) Only (i) is correct

(D) Only (ii) is correct

P.T.O.
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. 45.

46.

.ﬁrcaﬁrﬁéaﬁ@ﬁwmﬁam#{m
afufem, 1986 F wiimfem ==&t & 2
(A) Tfiftafas dat &

(B) emifH
(C) fafsarr wd s=m
(D) W fafasa &=

a-fafauar ® R (ARE) B

Ty ¥ 1 W faar iy

(). I 29 fg@=m, 1993 = feea o
|

(i) 9Rd 3B TH UL T |

(iil) TG & TW W 1996 H FTEER
fou |

(V) oI Sa-fafaum &g wfy =
22 S W W W@ ?

wel fawea w1 = wifvg .

(A) Baa (i) ik (i) v €

(B) &9 (iii) 3N (iv) 9d T

(C) @ (i) *iR (iif) T €

(D) Fe (i) o (iv) T &

frafafer ® ¥ BFR wed dm

favafaaem & <t 1857 & IRA wfum

e @ g ?

(A) Fowd, T, &Kool

(B) aerdl, ara‘érma

(Cy s, feeedl, ws

(D) feoett, wempd, AW
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44.

45,

46.

Which of the following is not covered

under Environment Protection Act,

1986 7
(A) Eco-sensitive Zone

(B) Wetland

" (C) Zoos and Parks

(D) Coastal Regulation Zone

regarding
Diversity

Consider the following

Convention on Biological

(CBD) :
(i) It came into force on 29 December,
1993

(i1) India is one of the parties to the
convention.

India signed the convention in 1996.

(i)
(iv)

International Biodiversity Day is
celebrated every year on 22 June

Choose the correct option :

(A) Only (i) and (ii) are correct.

(B) Only (iii) and (iv) are correct.

(C) Only (i) and (ii1) are correct.

(D) -Only (ii) and (iv) are correct.
Which of the following were the first
three universities that were established
during 1857 ?

(A) Calcutta, Bombay, Delhi

(B) Calcutta, Bombay, Madras

(C) Bombay, Delhi, Madras

(D) Delhi, Calcutta, Madras
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47,

48.

49.

50.

frefafes & @ wF9@ & =1 1w
agerter Y € 2

(A) -

(B) #fAemgn ==l Hw

(C) F-F==

(D) UE®H=

I foan A wEe AWET orqum
(SIEeR) @ 50 WfwE W% Ww@H B
fr wdd-2020 g1 AR # W wmw
il
(A) 2025 (B) 2030

(C) 2035 (D) 2040

T Y T Feargq IReg (NAAC)

-aﬁwww%ﬁﬁnézﬁ:

(A) UGC gm (B) AICTE gr

(C) NCERT g’ (D) DEC §m

YR # ool g favatarad few o
i feam war en 7
(A) 1982 (B) 1985

(C) 1988 (D) 1989
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47. Which of the following is not a quadrant

48.

49,

50.

of Swayam ?
(A) e-tutorial
(B) Online discussion forum
(C) e-content

(D} Podcast

What is the timeline produced by NEP-
2020 to raise Gross Enrollment Ratio

(GER) in Higher Education to 50% ?
(A) 2025 (B) 2030

(C) 2035 (D) 2040

National Assessment and Accreditation

Council (NAAC) was established in

1994 by :
(A) UGC (B) AICTE
(C) NCERT (D) DEC

The first Open University in India was -
established in which year ?

(A) 1982 (B) 1985

(C) 1988 (D) . 1989
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